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QUESTION 1

You want to perform an RMAN backup of database as a copy. Which two factors will you consider while performing the
backup operation? (Choose two.)

A. The backup as copy can only be taken to disk

B. The backup as copy can only be taken to tape

C. Backup can be performed only when the instance is shutdown

D. Backup will constitute all used and unused blocks in the database

Correct Answer: AD

QUESTION 2

You are administering a multitenant container database (COB) that contains two pluggable databases (PDBs), pdbl and
pdb2. You are connected to pdb2 as a common user with DBA privileges.

The statistics_level parameter is PDB modifiable.

As the user sys, execute the following command on pdb2:

SQL> ALTER SYSTEM SET STATISTICS_LEVEL=ALL SID=\\"\\' SCOPE=SPFILE;
Which statement is true about the result of this command?

A. The statistics_level parameter is set to all when any of the PDBs is reopened.

B. The statistics_level parameter is set to all only for PDB2 when it is reopened.

C. The statistics_level parameter is set to all when the root database is restarted.

D. The statement is ignored because there is no SPFILE for a PDB.

Correct Answer: B

This ALTER SYSTEM statement sets the STATISTICS_LEVEL initialization parameter to ALL for the current PDB:
ALTER SYSTEM SET STATISTICS_LEVEL = ALL SCOPE = MEMORY;

Reference: http://docs.oracle.com/database/121/ADMIN/cdb_pdb_admin.htm#ADMIN14018

QUESTION 3

Examine the following steps of privilege analysis for checking and revoking excessive, unused privileges granted to
users:

1.
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Create a policy to capture the privileges used by a user for privilege analysis.
2.

Generate a report with the data captured for a specified privilege capture.
3.

Start analyzing the data captured by the policy.

4.

Revoke the unused privileges.

5.

Compare the used and unused privileges\\' lists.

6.

Stop analyzing the data.

Identify the correct sequence of steps.

A.1,38,56,2,4

B.1,3,6,2,5,4

C.1,3,2,56,4

D.1,3,5,2,6,4

Correct Answer: B

1. Create a policy to capture the privilege used by a user for privilege analysis.

w

. Start analyzing the data captured by the policy.

(2}

. Stop analyzing the data.

2. Generate a report with the data captured for a specified privilege capture.

al

. Compare the used and unused privileges\\' lists.

4. Revoke the unused privileges.

QUESTION 4
ENCRYPT_TS is an encrypted tablespace that contains tables with data.

Which statement is true regarding the effect of queries and data manipulation language (DML) statements on the
encrypted data in the tables?

A. The data is decrypted during SORT and JOIN operations.
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B. The data remains encrypted when it is read into memory.
C. The data remains encrypted when it is stored in the redo logs

D. The data remains encrypted in the UNDO tablespace provided that the UNDO tablespace was created with the
encryption option enabled.

Correct Answer: C

QUESTION 5

Your database supports an online transaction processing (OLTP) workload in which one of the applications creates a
temporary table for a session and performs transactions on it. This consumes a lot of undo tablespace and is affecting
undo retention.

Which two actions would you take to solve this problem?

A. Enable temporary undo for the database.

B. Enable undo retention guarantee.

C. Increase the size of the redo log buffer.

D. Enable Automatic Memory Management (AMM).

E. Increase the size of the temporary tablespace.

Correct Answer: AE

Reference:http://docs.oracle.com/database/121/ADMIN/undo.htm#CEGJGIAE
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